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ASSIGNMENT

3x, +4x

2sobject %o 2x, +6x, <16

’

5x, +2x, 2 20; x,, X, = 0'

3x, + X, + 2X; — X, 2X, — X, +3X; + X, =1

’

subject to

= =3 >
X+ Xp = X3+ X5 = 37X, X5, X3 20, X, is unrestricted in sign.

6x, +4x, +6X, + X, sulsiact i

4x, +4x, +4x, +8x, = 21’ 3x, +17x, +80x; +2Xx, =3; X,,X; 20,5,
are unrestricted in sign.

Use principle of duality to solve the LPP: Max. 3X1+2X2

X, + X, <3;%,X, 20

subject to

2%+ X, €5

>
Use principle of duality to solve of LPP: Max. X, + 6X2 subject to X3 +X; 2 1,
X, +3X, <3; %, X, 20



